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Rovo says, we derive it from 7o% 7o% - 7197 17157 RONR AR N29

Overview

The X 13 is discussing the dispute between 311 " (who maintains that Mmpo» *2n
AN are 217 to pay) and wp% w1 (who maintains they are M9). "9 argued that
the 170 explicitly included Mmp» 211 in the exemption of payment, just like >2»n
mnon. According to »2aX this is derived from the Mw 77°7 of ywA 37!271,1 however X229
disagrees and derives it from 719 79n.?

nvoIN asks:
- 31)!'\1’ 29 19) YU YWY NIY N9 XN 1YY 5H’Y XaY Nnvn

It is astounding! According to 829 and similarly %', who both do not maintain

the w''t> of ywn yw- -
- 51112 P91 109 *Pam NNNRY NP 10 1359981 213 (v g P

And later we also require two 2°p109, one for a case where he is liable for
execution and money and the other in a case where he is liable for lashes and
money -
- YU YU IY D913 111D DN PIMY PN 139995 Y)Y
But the X ) there does not derive that by 1mmy mph» we do not give both
punishments, from 2y an» (where only one punishment [An°n] is given)
through the w''tx of YW YW9; indicating that the X723 there does not agree to the Y- w"n
YW, otherwise there is no need for two 2’109, for we can derive mp2» from 0 -
= (3,791 MINT NP P93 NPY YWIIT ©7YNT RNINDI
However, an anonymous X923 in the first 95 of n12% n>on does expound the w"n

of yw1 ywn. This is found there -
— 9759 DY 1911 XY 1Y 122913 12191997 DY PPN *2)

" See x°nx 77 "0,
* See X271 7"7 *"wA. The n"7n bases its ruling that P3N Mnn >2»1 are 9w M since by mnna a9n there is no
difference between 7°Tn% 2w, etc. X327 maintains that by mpon it also states 579% (or something similar [X7732 1°¥])
therefore the rule of 772 7191 applies to MpPon as well, that there is no 1 211 with Mpon, even aw3a (where there is
no actual NPYn). [See the following 2°n>1 7"'7 '01n, whether 7191 7191 is a W', or 1210.]
? X217 was not satisfied with the ¥ yw1 w"1, which »2x suggested as the reason for the ruling of 3" (and 827 used 719n
o1 instead), and >"1 disagrees with 9", so obviously he does not follow the w"r of ¥ ywn. See ‘Thinking it over’.
* The X3 there cites two o°p109, which teach us n"2%p, that we do not punish twice; one P09 is 131 110X 777° X9 (in
13,82 [@°wawn] Mnw, see previous AX 117 ‘010 TIE footnote # 2) and the other 1nywn *75 (in 2,72 [X¥N] 2°727) which we
expound that N1°YW" '2 QWWN 12711 AR R 2701 AN DX Avw owwn. The Ri there explains the need for both o°p1os.
5 The P10 of 7oK 771> X7, which is discussing nn.
®The P09 of 1YW >15, which is discussing nmpon.
" We see that the X137 8200 later and "™ X271 here do not utilize the yw1 yw1 ",
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Regarding the rule that 322y 27 are not killed unless the verdict was issued
on their say so® -

- TP YU NIAN 1931 7PN 23990 1959INT
Where the X723 states, ‘from where do we know that this rule applies to 3%n
nydphn’; the X3 answers, we derive N1°p2» °2%1 from 107 °2»n through the v of

Y ywn -
= IV 2277 22) (0w 3,55 A1) 1131312 23T TNHN P9 V92 NIIN 223) NN?»9)

And there is also a Xn>»92 in the beginning of nynan s137 AR P92, regarding

capital punishment -
- YU YU NONN 193 MY 2290 132IIRT NAINY XY Yar MY 1P9TNn)

We bring back the accused if we find some merit to acquit him, but we do not

bring him back (if he was acquitted) to find him guilty; where the X723 states how

do we know that this same rule applies by n1p»n 32%1; the X3 replies we derive
it through the w9 w9 W"3, the X3 continues and cites a X713, saying —

= 9915 951 ) NN

We also learnt this in a X132, etc. We now have a X2 which utilizes the W't of ywn ywA -

- %9199 AN 539 157 199 232 (ov 3,09 ’np x23) TAINNA DY WITT 3133 NNHINS %29

And "1 (the Xin) also expounded this yw1 yw7 w"1; this is regarding a ¥n»173,

which stated, ‘and similarly *''% would exempt him’ -
= 127 D2 7N 222NN 5‘”",75)3 2951 NYH 229NN NIDN NN YIFD

Meaning °"1 would exempt a blind person, from being liable for n»3, and from

liability for nyp%» and from liability from execution by 7'"2 -
= YU YU NN NHIN 229N NYIY NN 14 N2 NN’ 229N BN 99N

And the X723 there explains the reason of > that he derives the exemption of a X”0
from 7'"»2 nInon 21 through the W' of 2 nx (from M2 °2»n, from which a
X110 is exempt), and the exemption of a X210 from MPo» %221 is derived from >2»n

7"2 M through the W't of Y YW, we see that > utilizes the yw yw7 " -
- YV YV INY YT DIVN INY ONN FOYY 21597 )3aN

And the 3229 who argue there with >"1 and maintain that a Xm0 is (Mpn) 2n, it

is not because they do not maintain the Yy ywa " -
=197 %2 MHNM 22N N Y2NNT DIVN NIN

8 If two 07y testified that 129%7 killed 1nw»w and another two 0’7y claimed that at that time you were with us in
another place, so you could not have seen that murder take place, we execute the first group of witnesses (the 7y
1mr), provided that the guilty verdict against 2% was already issued based on their testimony, before the 117
took place. It is derived from the 109 (in &2,0° [2°v91W] 0°727) which states w12 wo1 (R"37 MIANT2 NP2 w"Y).
? We see that the 0"wi7 8100 utilizes the ¥y yw w'n, like »aK, and not like 821 (mentioned in footnote # 7).
10 The ®n3 there reads, 7"2 M 227 m’pbn SOMA YA 2P D 3T M T D2 ) TR R0 P 77T M RINT.
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But rather they hold the X210 liable for mjp%», just as he is liable for 7''93 ninon.

We have here a contradiction; from our X3 (and specifically >"71 X27) it appears that we do not
utilize yw1 ywA, and from other M 73 (and 2°Xin) it is obvious that we do utilize ywa ywA. There
is a need to resolve this contradiction!

no0In answers: !
= YV YYUHT NIV D) 0PN Y91 0Y N 199?229 NaYY 2129 U

And one can say that %29 and >''% maintain the yw9 yw9 w''t3 everywhere,
provided it is -
- Zmmbnn 913 X0Y 9373

Regarding something which is in the np%» itself -
- Yy pwa 19299 8Y P15 19) 99N oY XINY 11 M0 1IvY Xon Yax

However here, and similarly later in the X723, where we want to utilize the w"7)
w1 vy regarding an exemption of monetary payment which is together with

npn (the rule of n"2%p), they ("1 827) do not utilize yw= yw- -
- YYD M1 13 OX °n5m MPY Iy 29N YU N9 KIPT DIVN Prnyo)

And the reason for this distinction is because it is evident from the ?9p, where
the word yw= is written concerning nipv», as it says w17 1237 32 a8 757 (and it
will come to pass, if while he is smiting the wicked one [yw1]) —

Moo responds to an anticipated difficulty:
- Ymanbws nnna non Fanxaw 2505 YN 223 1anT 0N Y nomn nam wraTe XM

And this which X237 expounds 72% 72%, that is because there the word 712% is
written regarding payment (not regarding npon) as it states anbws qama 7on

(one who wounds an animal should pay for it) -
- 9%AN NYTY N2T9 19PYT NIND) DY) Y92 YWY YYUIT MY N1 99 5N »aN)

' The case(s) where we find that ¥w1 yw1 is not utilized is in regards to »"2%p. The places where yw ywA is utilized
regarding mMpon, are; 1) 177 2w 7Y, 2) 721072 K21 MOTH PIAn, 3) Kmo 1w,
"2 In the three cases mentioned in footnote # 11, the "1 teaches us something about the administration of mpHn.
" See (text by) footnote # 4.
" 1t is not a w7, which affects the mponn a1, rather it is a Aw97 of 1M1 MWD when it occurs together with NPHA.
"> moon is explaining on what basis do *"1 X271 make this distinction regarding the y2 ywa w"T.
16 2,72 (Xx¥n) 0°127. Therefore, we only derive from this ¥ ywn w'"n, those rules which affect administering mp>n.
' See footnote # 2. How can X271 utilize 719% 73» for n"2%p, when mooin just concluded that we only utilize it for
laws concerning NYp%n, but not for »n"21%p.
18 %3,72 (MnR) ®7p7. This is one part of the 7157 7191 7wA7. The other 721 is really the (v° P05 ow) oD of O 1N 2 WR
131 1N07Y1 (see RN LWORY 17 2" W), and in neither P09 is NP explicitly stated.
' Therefore, since 7172 (payment) is written, we can utilize the w17 regarding payment, namely that by >2»n
AW NP9, there is no payment (2"297).
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However, »2x utilizes the yw= yw= w''13 everywhere (even regarding »"2%p), and
the x»3 later,” is according to 827, but not according® to »ax —

Moo responds to an anticipated difficulty:22
= YU YU NINNT RIP TO98 ND 1913 Mponde 2a5ns 9295 MPYIY NN XIP P »AN)

And »2x will establish the second 105 by niphn iinon, like 2''9, since the second
10D is not necessary for 311 npn, for we utilize the W' of Y= pwn —

nvoIN asks:
= (ow) 3,50 OV) Zuaynm WA NYD NI NN D91 D91 WIIT XY INAN 93N 29 9NN ON)

And if you will say why does not ''% (who maintains 2A2Wn Paw Npon °2%0)
expound the w17 of mo% mo% (and agree with "9 that 7709 13w NPPYR °2%n
0owon), since this 7w17 is cited in a X932 in the beginning of 277 P75 —

NIDON answers:
= 11919 N9 YT NDT ONNT ININ TN 9307 9D W

And one can say that X27 agrees with the other 2°Xin there, who do not
expound 772% 7192 (regarding 1y nn 1Y) -

1URN PY NN PY INDT OINTD 7NN 1999 NIN
Rather they derive from other 237105 that the 770 does not mean actually an
eye for an eye, but rather it means a monetary payment.

Summary
713 "1 X217 only utilize yw1 ywn for the laws of NP, but not for n"2%p.

Thinking it over
How can we be sure that 831 does not utilize yw1 ywn,” perhaps he is merely

adding that there can be another w17 of 77127 1727, as well?

0 See footnote # 13.
1 See footnote # 7.
2 That X (footnote # 4) taught that the two 2°109 (of 1OR 77° R?1 and YW1 >77), which teach us n"2%p are
required for 1m0 and m Mpon. However according to *aR that we derive 1m mphn from 1vm anon (through
w1 yw1), why do we need the second p1097!
2 See later 21 8,1, that "1 who maintains 02wm 7,9, the second P09 is used for MpYm 0, where the an°» 21N
exempts him from mpo».
* The xn>72 derives from 79 7% that ¥ NAN Y means a monetary payment, but not wan 1v. We see that it is a
valid nwa7, so why does *"1 not utilize it as 7" does (according to X27)?
» See the X3 there that X271 derives it from w"»y %57 X971.
% See footnote # 3.
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